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If | am going to measure the orbit ...
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English ver.

The orbit 1.071 million as to ask for time per once at 365.25
degrees this point below The decimal point is coincident
with the value of 348 =+ 1461.

To this will be 1461 and the addition of 1, is multiplied by 4
further in the circumferential heaven and 4.284 million.
Become 2932.238119301848 when obtaining the distance of 1
degree by the 4284000 =+ 14611461 is a number that is
multiplied, since less than this, you can place directly as 348
- 1461. This is in order to know the percentage of the
algorithm are described. In addition, once the diurnal heaven
and 513,687.68182, it is approximately 1406.2464To survey

the /and,syaku.,kan.chou,ri

can be achieved in units such as, but not be measured heaven.

There is no point in using such units when measuring things

supremely large.
A person in charge:Nakahara Nakazawa
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The orbit 1.071 million as to ask for time per
once at 365.25 degrees this point below The
decimal point is coincident with the value of 348
<+ 1461.

To this will be 1461 and the addition of 1, is

multiplied by 4 further in the circumferential
heaven and 4.284 million.

Become 2932.238119301848 when obtaining the
distance of 1 degree by the 4284000 -
14611461 is a number that is multiplied, since

less than this, you can place directly as 348 -
1461.

A person in change .Nagayoshi Nakano
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- And we deal things celestial,because the number was
enormous,it was found that is no meaning to represent
measure the larger in this way.

*Time in modern translation is applied,but | was able
to read until the end.
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